T2 T9DR® 2ISTM NaYn
VIIDR PIND 2aY Y9N

cosu=0.08 qma 4.1 nnaT

y=2+sin(20) sing+cos(3a) 1UTN Y NN NYR
sin(2p)=0.38 Jpma 4.2 anart
y=4+sin(ou+f ) cos(P-a)-2-sin(20) MU 7Y DY NN YN
cos(20)=0.26 , cos(2p)=0.04 ma 4.3 ana
y=5+cos(u+p)+cos(a-p) MUIN Y NN YD
tanu=2.5 amy 4.4 anar

L0

sinfo+35%)+sin(o-35%)
cos(o+35%)+cos{u-35)

y= MDY DY NIN NYN
sin(2a)=0.7 qm 4.5 anar

A
! d NNTOY DTURINANLY DTvabn B o4 A o }=E W DY NN KY¥ND

A=3esin(4a)+6-sin(10u)-6-sin(6a) , B=S-c05[2u]+0-12-[5111(4u]]2

tanu=0.6 qma 4.6 anar
(7= d n d —
y=tan T+j -tan, T -j Mutan v 1DV NN KX
tanP=2.3 JJma 4.7 nnart
! p nToy omvnanw otvaon B o4 A wwio y=‘§ 7w DY NR N¥AR

A=tan(l1°+p)-tan(11%)-tanp , B=7-tan(l1%)-tan(lL1°+f)

tan(4a)=1 M1 4.8 anaT

I O RNNT OY DMVRRIANY DTIva nn B 4 A wwno }:‘E TN NYR

B=9:cos(2u)+3+cos(4u)+9+cos(6a) ., A=9+sin(2a)+3+sin(4e)+9+sin(6u)

cosu=0.65 Jma 4.9 hnat

y=5+7+cos(2u)+2+cos(4u) I7TW DAY NN XY



